)T E i (b shisk Gt i

EHEER

B35 25
(1) 1TBuU&EE
RIE BHiZ(E )
eI EHER
A2 EE| SN EE S 6 FE[SMT EE
TEMEHSEERICL S ZE - & )
1. 30¢ 33¢ 35¢F BAEGE
TEHER
2 |EIRBOEMIS T T — 5K 0% 0% 04 ToF5ER
B S ATEUERR (B8%R) OEREE )
3 1 1 2 VS
AR . = . B
4 BTSSR E &% 299 A 296 A 330A NEIES
5 DB IEREEEL 24 4 15 214 HIEE
(2) EE. - @&t
RIE R BiZE )
51 B4R
S 2 FE|SM 3 EE E(SM 7 £E
1 [SEHISHENFHEDRZHEL 0A 0A 3% |mREe L
FiREEF0EEE G00mIE) )
2 587 1,064 5004 KaTsER
MEREIAAST 2 4 4 BERA B
3|7 LILF—HICDREERREI (ON=y 3368 2,000 FT5 R
A |EERMICTERET DHaKR >V 78K 4 1@ 4 1@ 8 12 FTFkER
Hhigh < 2 AR EEMEAB R FZEIC
5 . 14 3% 14 [ESSIE
£ BT 3
BT EXEERTL Y BROE
6 |$FE CHEIIEENREINTLD 64% 52% 80% ey AN
ADEE
(3) EZE-B%
TR Bz )
ez HEECE
A2 EE|SMIEE E| ST EE
EEMEREEREEC L 2BEE
. ;_E%ﬁﬁﬁﬂz IEREEEICL B8 5 " 3 —
FTEX
2 IRERESICLIREIREHHK 1,000¢% 9231% 1,000 | I KPER
36
3 | TEIRMEEFEBS 104 5% # P T KER
(5 FE/M)
4 |BROREGICNE (EHE) 17/7148 | 19/71#5 29/7148 e RE




(4) #BHtgE - 1> 75

T E{EE Hi(E ]
jEIZ B4R
SN2 EE|SHIFE(SHM4 FE|SML EE|SHT 6 EE(SM 7 £E
1 [BRXEICLZHEK 0 A 0 A 0 A FFEER
2 [ EREIEEEICLIFBEER 400m 287Tm 400m [
3 |khEES 194km | 198.5k m 195km eI
4 [k EERER 2622m | 2.622m 2.622m B
R IR D < M 24h
: x*i‘% =5 EHE RMEEH 0ha 0ha a o phn
@%ﬁ (5 -'EEFIEﬁ)
6 |BEOMELE (L&) 79.00% | 80.00% 80.20% | FFiKkE=E
7 [BAammE AT R = 95.30% | 96.98% 98% kR
\ 7458/ A - 7378/ - 720g/ A - o
8 |RERZHOBLE gE gE gE ETBIE R
B A EA L - RS E RS
9 ﬁ”ﬂi = H AEFEMELX 2 L At S
o
B+ =pEyE S BERDIE
o [AT=mARCERCLSRROE | o 30 0E | £EZBE
B DENEREE

(5) I - EE

RER £ =Y HiZE _
Ei=1 BLR
S 2 FE(DM 3 FE(DI 4 FE|SF 5 FE|DM 6 FE|DM 7 FE
1 |BEB KRB B KR E R 54% 3% 60% HeTE R
2 |BESEEEIRERIGE 52 A 64 A T0A HOES R
3 |k oEEe 9,420¢ | 10,320 ¢ 11,200 ¢ IR
4 WEREBEEEORHFER 0.03kni 0.03kni 0.06knt | ¥FH2<C YR




